How Tundra Swan Preference Points Are Calculated

Assignment of Tundra Swan Preference Points to Parties

= To determine how many preference points an eligible party has in the drawing, individual party
members have their preference points averaged. A party can consist of 1 individual applicant or
multiple applicants up to 5 individuals.

=  When calculating a party’s preference point average, the total number of individual
member preference points is divided by the party size, and then rounded up to the
nearest whole number from .50 (e.g. > 0.50 to 1).

= Eligible parties will be assigned a preference point if the average of all the individual
member preference points is >1.

= The matrix below illustrates the assignment of preference points during the 2013-14
draw process, after averaging, based on total individual member preference points and

party size.
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Party Assigned Preference Point

= A party would need the following number of points, after averaging, to be assigned a
preference point:
- Minimum of 1 point in a party of 1
- Minimum of 1 points in a party of 2
- Minimum of 2 points in a party of 3
- Minimum of 2 points in a party of 4
- Minimum of 3 points in a party of 5



